

08.06.2024

ADOPTED

## TOWN OF RIVERHEAD

## TB Resolution 2024-717

**RATIFIES AWARD OF 2024 ANNUAL CONSTRUCTION CONTRACT**

Councilman Rothwell offered the following resolution,  
which was seconded by Councilman Kern

**WHEREAS**, Town Board Resolution #2024-430 authorized the Town Clerk to advertise a Notice to Bidders for sealed bids for **2024 ANNUAL CONSTRUCTION CONTRACT**; and

**WHEREAS**, 11 bids were received, opened and read aloud in the Office of the Town Clerk, 4 West 2<sup>nd</sup> Street, Riverhead, NY 11901 on **MAY 29, 2024** at **11:00 AM**; and

**WHEREAS**, the bids were reviewed and a bid tabulation was prepared by the Purchasing Agent and presented to the Town Board for review;

**NOW THEREFORE BE IT RESOLVED** that the bid for **2024 ANNUAL CONSTRUCTION CONTRACT** be and is hereby awarded as follows:

Award No. 1 to Suffolk Paving Corp.  
Award No. 2 to Suffolk Paving Corp.  
Award No. 3 to Suffolk Paving Corp.  
Award No. 4 to Suffolk Paving Corp.  
Award No. 5 to Rosemar Contracting Inc.  
Award No. 6 to Corazzini Asphalt  
Award No. 7 to Suffolk Paving Corp.  
Award No. 8 to The LandTek Group Inc.  
Award No. 8A to Laser Industries Inc.  
Award No. 8B to Laser Industries Inc.  
Award No. 9 to Laser Industries Inc.  
Award No 10 to Laser Industries Inc.  
Award No. 11 to Laser Industries Inc.  
Award No. 12 to KJB Industries Inc.  
Award No. 14 to Rosemar Contracting Inc.  
Award No. 15 to D.F. Eastwood Construction Corp dba All Island Fence  
Award No. 16 to D.F. Eastwood Construction Corp dba All Island Fence  
Award No. 17 to Corazzini Asphalt  
Award No. 18 to Suffolk Paving Corp.  
Award No. 19 to Rosemar Contracting Inc.  
Award No. 20 to Suffolk Paving Corp.  
Award No. 21 to Rosemar Contracting Inc.  
Award No. 22 to Rosemar Contracting Inc.  
Award No. 23 to Corazzini Asphalt  
Award No. 24 to Suffolk Paving Corp.

Award No. 27 to The LandTek Group Inc.  
Award No. 28 to The LandTek Group Inc.  
Award No. 29 to KJB Industries Inc.  
Award No. 30 to Laser Industries Inc.  
Award No. 31 to Laser Industries Inc.  
Award No. 32 to Suffolk Paving Corp.  
Award No. 33 to The LandTek Group Inc.  
Award No. 34 to American Underground Utilities  
Award No. 35 to American Underground Utilities  
Award No. 36 to American Underground Utilities  
Award No. 37 to American Underground Utilities; and be it further

**RESOLVED**, that the Town Board be and does hereby authorize the Purchasing Agent to return any and all bid bonds received in connection with the above; and be it further

**RESOLVED**, that the Town Board be and does hereby authorize various Town department to secure Town of Riverhead purchase orders from the Purchasing Department using the Annual Construction Contract; and be it further

**RESOLVED**, that the Town Clerk be and is hereby authorized to forward a copy of this resolution to:

**Corazzini Asphalt**  
**PO Box 1281**  
**Cutchogue, NY 11935**  
**office@corazziniasphalt.com**

**KJB Industries Inc**  
**58 Tyler Dr**  
**Riverhead, NY 11901**  
**kjbindustries@aol.com**

**Laser Industries Inc**  
**1775 Route 25**  
**PO Box 315**  
**Ridge, NY 11961**  
**nickc@laserindustriesinc.com**

**Rosemar Contracting Inc**  
**PO Box 16**  
**Patchogue, NY 11772**  
**Jbellotti@rosemar.com**

**Suffolk Paving Corp**  
**30 N Dunton Ave**  
**Medford, NY 11763**  
**stefansp@optonline.net**

**The LandTek Group Inc**  
**105 Sweeneydale Ave**  
**Bayshore, NY 11706**

**estimatinggroup@landtekgroup.com  
D.F. Eastwood Construction Corp  
dba All Island Fence  
1320 Motor Parkway  
Islandia, NY 11795  
ddiroma@allislandfence.com**

**American Underground Utilities, Inc.**  
**PO Box 900**  
**Eastport, NY 11941**  
**info@americanundergrd.com**

and the Engineering Department, Community Development, Highway Department, Sewer District and Water District, Purchasing Department, and Accounting Department; and be it further

**RESOLVED** that all Town Hall Departments may review and obtain a copy of this resolution from the electronic storage device and, if needed, a certified copy of same may be obtained from the Office of the Town Clerk.

# THE VOTE

**RESULT:** ADOPTED [UNANIMOUS]  
**MOVER:** Kenneth Rothwell, Councilman  
**SECONDER:** Robert Kern, Councilman  
**AYES:** Hubbard, Rothwell, Kern, Merrifield, Waski

This is to certify that I, the undersigned, Town Clerk of the Town of Riverhead, County of Suffolk, State of New York, have compared the forgoing copy of a Resolution with the original now on file in this office and which was duly adopted on August 6, 2024 and that the same is a true and correct transcript of said Resolution and the of the whole thereof.

State of New York      County of Suffolk      } ss:  
County of Suffolk      } ss:  
Town of Riverhead



James M. Woehr

, Town Clerk

**FISCAL IMPACT STATEMENT  
OF PROPOSED RIVERHEAD TOWN BOARD LEGISLATION**

A. Type of Legislation    Resolution <input checked="" type="checkbox"/> Local Law		
B. Title of Proposed Legislation: Ratifies Award of 2024 Annual Construction Contract		
C. Purpose of Proposed Legislation:		
D. Will the Proposed Legislation Have a Fiscal Impact?    Yes <input checked="" type="checkbox"/> No		
E. If the answer to section D is "yes", select (a) or (b) below and initial or detail as applicable: <p style="margin-left: 20px;">(a) The fiscal impact can be absorbed by Town/department existing resources set forth in approved Town Annual Budget <u>TB</u> (example:routine and budgeted procurement of goods/services)*if selecting E(a), please initial then skip items F,G and complete H,I and J; or (b) The description/explanation of fiscal impact is set forth as follows:</p>		
F. If the answer to E required description/explanation of fiscal impact (E(b)), please describe total Financial Cost of Funding over 5 Years		
<b>G. Proposed Source of Funding</b> Appropriation Account to be Charged: Grant or other Revenue Source: Appropriation Transfer (list account(s) and amount):		
H. Typed Name & Title of Preparer: Teresa Baldinucci	I. Signature of Preparer  <b>Teresa Baldinucci</b> Teresa Baldinucci	J. Date 7/11/24
K. Accounting Staff Name & Title Jeanette DiPaola,	L. Signature of Accounting Staff  Jeanette DiPaola	M. Date 7/31/24

BID OPENING DATE: 5/29/2024

**D.F Eastwood**  
**Construction Corp**  
**DBA/ All Island Fence**  
**and Railings**  
**Donald Fischetto**  
**631-630-0995 x 201**

COMPANY NAME:		Excav Services Inc.		Laser Industries Inc.		DeLallo Coal & Stone DBA South Fork		The LandTek Group Inc.		Suffolk Paving Corp.		KJB Industries Inc.		Rosemar Contracting Inc		Quintal Contracting Corp		Corazzini Asphalt		American Underground Utilities, Inc.			
CONTACT:		Robert Governale 631-929-1388		John Gulini 631-924-0644		Asphalt Perry DeLallo Jr. 631-288-0037		Michael Ryan 631-691-2381		Joseph Arpin 631-698-1791		Patrick Panchak 631-727-5600		Linda Bianca 631-878-2323		Paul Golofaro 631-665-0429		Richard Corazzini 631-734-5600		Matthew Schultz 631-252-9334			
<b>Award No. 1 - Mixed in Place Road Reconstruction - Low Quantity</b>																							
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	
1	2	Unclassified Excavation	CY	1-200	100	\$70.00	\$7,000.00	\$95.00	\$9,500.00							\$50.00	\$5,000.00	\$80.00	\$8,000.00				
	2U	Removal of Unsuitable Material	CY	1-200	100	\$70.00	\$7,000.00	\$95.00	\$9,500.00							\$50.00	\$5,000.00	\$80.00	\$8,000.00				
	3S-B	Embankment - Borrow	CY	1-200	100	\$45.00	\$4,500.00	\$50.00	\$5,000.00							\$30.00	\$3,000.00	\$50.00	\$5,000.00				
	3S-SGF	Embankment - Select Granular Fill	CY	1-200	100	\$50.00	\$5,000.00	\$80.00	\$8,000.00							\$30.00	\$3,000.00	\$50.00	\$5,000.00				
	3S-GS	Embankment - Grading Subgrade	SY	1-200	100	\$45.00	\$4,500.00	\$50.00	\$5,000.00							\$30.00	\$3,000.00	\$45.00	\$4,500.00				
4	Standard Mixed-In Place Recycled Base Course		SY	1 - 2,000		\$20.00	\$20,000.00	\$20.00	\$20,000.00							\$18.00	\$18,000.00	\$22.00	\$22,000.00				
4-P	Recycled Concrete Aggregate		CY	1-200		100	\$40.00	\$4,000.00	\$90.00	\$9,000.00						\$20.00	\$2,000.00	\$60.00	\$6,000.00				
25-C	Casting Adjustment		Ea.	1-5		3	\$490.00	\$1,470.00	\$500.00	\$1,500.00						\$500.00	\$1,500.00	\$550.00	\$1,650.00				
25-S	Subgrade Area Material		CY	1-5		3	\$75.00	\$225.00	\$50.00	\$150.00						\$90.00	\$270.00	\$100.00	\$300.00				
25-P	10x10' Pavement Patch		Ea.	1-5		3	\$1,700.00	\$5,100.00	\$2,500.00	\$7,500.00						\$1,500.00	\$4,500.00	\$2,300.00	\$6,900.00				
49	Rut Avoidance Asphalt Concrete, Type 6RA Top Course		Ton	1-200		100	\$205.00	\$20,500.00	\$260.00	\$26,000.00						\$200.00	\$20,000.00	\$210.00	\$21,000.00				
S2	Rut Avoidance Asphalt Concrete, Type 3RA Binder Course		Ton	1-200		100	\$205.00	\$20,500.00	\$260.00	\$26,000.00						\$200.00	\$20,000.00	\$210.00	\$21,000.00				
55	Asphalt Concrete Type I, Base Course		Ton	1-200		100	\$90.00	\$9,000.00	\$250.00	\$25,000.00						\$75.00	\$7,500.00	\$150.00	\$15,000.00				
57	Asphalt Emulsions		Gal	1,000-5000		3000	\$5.50	\$16,500.00	\$5.00	\$15,000.00						\$4.00	\$12,000.00	\$6.00	\$18,000.00				
112	Topsoil and Seed		SY	1-500		250	\$14.00	\$3,500.00	\$18.00	\$4,500.00						\$13.00	\$3,250.00	\$16.00	\$4,000.00				
116	Pavement Markings		LF	1-1000		500	\$5.00	\$2,500.00	\$5.00	\$2,500.00						\$2.50	\$1,250.00	\$5.00	\$2,500.00				
<b>Total Bid Comparison Price Award No. 1</b>						\$131,295.00		\$174,150.00		NO BID		NO BID				\$109,270.00		\$148,850.00		NO BID		NO BID	

D.F. Eastwood  
Construction Corp  
DBA/ All Island Fence  
and Railings

COMPANY NAME:		DeLatio Coal & Stone	DBA South Fork	The LandTek Group	Suffolk Paving Corp.	KJB Industries Inc.	Rosemar Contracting Inc	Quintal Contracting Corp	Corazzini Asphalt	American Underground
Award No.	Item No.	Excav Services Inc.	Laser Industries Inc.	Asphalt						Utilities, Inc.
<b>Award No. 2 - Mixed in Place Road Reconstruction - High Quantity</b>										
2	2	Unclassified Excavation	CY	201 - 500	350	\$50.00	\$17,500.00	\$90.00	\$31,500.00	
	2U	Removal of Unsuitable Material	CY	201 - 500	350	\$15.00	\$5,250.00	\$80.00	\$28,000.00	
	3S-B	Embankment - Borrow	CY	201 - 500	350	\$10.00	\$3,500.00	\$60.00	\$21,000.00	
	3S-SGF	Embankment - Selected Granular Fill	CY	201 - 500	350	\$12.00	\$4,200.00	\$30.00	\$10,500.00	
	3S-GS	Embankment - Grading Subgrade	SY	201 - 500	350	\$5.00	\$1,750.00	\$50.00	\$17,500.00	
4		Standard Mixed-In Place Recycled Base Course	SY	2,001 - 5,000	3500	\$6.85	\$23,975.00	\$8.00	\$28,000.00	
	4-P	Recycled Concrete Aggregate	CY	201 - 500	350	\$14.00	\$4,900.00	\$80.00	\$28,000.00	
	25-C	Casting Adjustment	Ea.	6-10	8	\$400.00	\$3,200.00	\$600.00	\$4,800.00	
	25-S	Subgrade Area Material	CY	6-10	8	\$100.00	\$800.00	\$100.00	\$800.00	
	25-P	Asphalt Pavement Patch	Ea.	6-10	8	\$900.00	\$7,200.00	\$1,200.00	\$9,600.00	
49		Rat Avoidance Asphalt Concrete, Type 6FRA Top Course	Ton	201-500	350	\$130.00	\$45,500.00	\$200.00	\$70,000.00	
	52	Rat Avoidance Asphalt Concrete, Type 3RA Binder Course	Ton	201-500	350	\$125.00	\$43,750.00	\$200.00	\$70,000.00	
	55	Asphalt Concrete Type I, Base Course	Ton	201-500	350	\$90.00	\$31,500.00	\$150.00	\$52,500.00	
	57	Asphalt Emulsions	Gal	5001 - 15,000	10000	\$5.50	\$55,000.00	\$5.00	\$50,000.00	
	112	Topsoil and Seed	SY	501 - 1,500	1000	\$7.50	\$7,500.00	\$18.00	\$18,000.00	
	116	Pavement Markings	LF	1,001-5000	3,000	\$1.50	\$4,500.00	\$2.00	\$6,000.00	
Total Bid Comparison Price Award No. 2						\$260,025.00		\$446,200.00	NO BID	
								NO BID		
								\$191,060.00		
									\$284,650.00	
									\$205,380.00	
									NO BID	
									NO BID	
									NO BID	
									NO BID	

D.F. Eastwood  
Construction Corp  
DBA/ All Island Fence  
and Railings

COMPANY NAME:			Excav Services Inc.	Laser Industries Inc.	DeLatio Coal & Stone DBA South Fork Asphalt	The LandTek Group Inc.	Suffolk Paving Corp.	KJB Industries Inc.	Rosemar Contracting Inc	Quintal Contracting Corp	Corazzini Asphalt	American Underground Utilities, Inc.									
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price
Award No. 3 - Roadways/Parking Lot Construction - Low Quantity																					
3	1	Clearing and Grubbing	Acre	0-2.5	1	\$24,000.00	\$24,000.00	\$20,000.00	\$20,000.00				\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00					
	2	Unclassified Excavation	CY	1-200	100	\$70.00	\$7,000.00	\$90.00	\$9,000.00				\$50.00	\$5,000.00	\$80.00	\$8,000.00					
3S-B		Embankment - Borrow	CY	1-200	100	\$48.00	\$4,800.00	\$50.00	\$5,000.00				\$30.00	\$3,000.00	\$50.00	\$5,000.00					
3S-SGF		Embankment - Select Granular Fill	CY	1-200	100	\$75.00	\$7,500.00	\$50.00	\$5,000.00				\$40.00	\$4,000.00	\$60.00	\$6,000.00					
3S-GS		Embankment - Grading Subgrade	SY	1-200	100	\$24.50	\$2,450.00	\$20.00	\$2,000.00				\$20.00	\$2,000.00	\$40.00	\$4,000.00					
4		Stabilized Mixed-In Place Recycled Base Course	SY	1 - 2,000	1,000	\$20.00	\$20,000.00	\$20.00	\$20,000.00				\$15.00	\$15,000.00	\$22.00	\$22,000.00					
4-P		Recycled Concrete Aggregate	CY	1-200	100	\$30.00	\$3,000.00	\$90.00	\$9,000.00				\$35.00	\$3,500.00	\$60.00	\$6,000.00					
25-C		Casting Adjustment	Ea.	1-5	3	\$575.00	\$1,725.00	\$500.00	\$1,500.00				\$500.00	\$1,500.00	\$600.00	\$1,800.00					
25-S		Subgrade Area Material	CY	1-5	3	\$100.00	\$300.00	\$125.00	\$375.00				\$90.00	\$270.00	\$100.00	\$300.00					
25-P		10x10' Pavement Patch	Ea.	1-5	3	\$2,250.00	\$6,750.00	\$2,500.00	\$7,500.00				\$1,750.00	\$5,250.00	\$2,300.00	\$6,900.00					
49		Rut Avoidance Asphalt Concrete, Type 6RA Top Course	Ton	1-200	100	\$210.00	\$21,000.00	\$260.00	\$26,000.00				\$200.00	\$20,000.00	\$210.00	\$21,000.00					
52		Rut Avoidance Asphalt Concrete, Type 3RA Binder Course	Ton	1-200	100	\$205.00	\$20,500.00	\$260.00	\$26,000.00				\$200.00	\$20,000.00	\$210.00	\$21,000.00					
55		Asphalt Concrete Type I, Base Course	Ton	1-200	100	\$50.00	\$5,000.00	\$250.00	\$25,000.00				\$75.00	\$7,500.00	\$160.00	\$16,000.00					
57		Asphalt Emulsions	Gal	1,000-5000	3000	\$6.00	\$18,000.00	\$5.00	\$15,000.00				\$4.75	\$14,250.00	\$6.00	\$18,000.00					
112		Topsoil and Seed	SY	1-500	250	\$20.00	\$5,000.00	\$18.00	\$4,500.00				\$10.00	\$2,500.00	\$16.00	\$4,000.00					
116		Pavement Markings	LF	1-1000	500	\$3.00	\$1,500.00						\$2.50	\$1,250.00	\$5.00	\$2,500.00					
118-SWM		Straw/Wood Fiber Mulch-Temporary	SY	1-500	250	\$6.00	\$1,500.00						\$5.00	\$1,250.00	\$5.00	\$1,250.00					
118-SM		Seed and Mulch - Temporary	SY	1-500	250	\$4.50	\$1,125.00						\$3.00	\$750.00	\$4.00	\$1,000.00					
118-SSWM		Seed and Straw/Wood Fiber Mulch - Temporary	SY	1-500	250	\$7.00	\$1,750.00						\$3.00	\$750.00	\$5.00	\$1,250.00					
118-S		Straw Bale - Temporary	LF	1-600	250	\$8.00	\$2,000.00	\$15.00	\$3,750.00				\$15.00	\$3,750.00	\$16.00	\$4,000.00					
118-G		Geotextiles	SY	1-200	100	\$16.00	\$1,600.00	\$18.00	\$1,800.00				\$10.00	\$1,000.00	\$15.00	\$1,500.00					
118-SF		Silt Fence - Temporary	LF	1-600	250	\$15.00	\$3,750.00	\$15.00	\$3,750.00				\$15.00	\$3,750.00	\$16.00	\$4,000.00					
118-D		Drainage Structure Inlet Protection, Prefabricated - Temporary	Ea.	1-5	3	\$360.00	\$1,080.00	\$350.00	\$1,050.00				\$350.00	\$1,050.00	\$400.00	\$1,200.00					
118-J		Jute Mesh	SY	1-200	100	\$5.00	\$500.00	\$4.00	\$400.00				\$2.00	\$200.00	\$2.00	\$200.00					
118-SCE		Stabilized Construction Entrance	SY	1-200	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00				\$20.00	\$2,000.00	\$20.00	\$2,000.00					
Total Bid Comparison Price Award No. 3						\$163,830.00	\$194,375.00			NO BID		NO BID		\$134,520.00		\$183,900.00		NO BID		NO BID	

COMPANY NAME:		Excav Services Inc.	Laser Industries Inc.	DeLatio Coal & Stone DBA South Fork Asphalt	The LandTek Group Inc.	Suffolk Paving Corp.	KJB Industries Inc.	Rosemar Contracting Inc	Quintal Contracting Corp	Corazzini Asphalt	American Underground Utilities, Inc.	D.F. Eastwood Construction Corp DBA/ All Island Fence and Railings	
Award No. 4 - Roadways/Parking Lot Construction - High Quantity													
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	\$0.00	Unit Cost	Total Price	Unit Cost	Total Price
4	1	Clearing and Grubbing	Acre	2.6-5	5	\$5,500.00	\$27,500.00					\$3,500.00	\$17,500.00
	2	Unclassified Excavation	CY	201 - 500	350	\$45.00	\$15,750.00					\$30.00	\$10,500.00
3S-B		Embankment - Borrow	CY	201 - 500	350	\$10.00	\$3,500.00					\$1.00	\$350.00
3S-SGF		Embankment - Select Gravel Fill	CY	201 - 500	350	\$3.00	\$1,050.00					\$1.00	\$350.00
3S-GS		Embankment - Grading Subgrade	SY	201 - 500	350	\$4.00	\$1,400.00					\$1.00	\$350.00
4		Stabilized Mixed-In Place Recycled Base Course	SY	2,001 - 5,000	3500	\$6.85	\$23,975.00					\$6.50	\$22,750.00
4-P		Recycled Concrete Aggregate	CY	201 - 500	350	\$30.00	\$10,500.00					\$20.00	\$7,000.00
25-C		Casting Adjustment	Ea.	6-10	8	\$500.00	\$4,000.00					\$350.00	\$2,800.00
25-S		Subgrade Area Material	CY	6-10	8	\$125.00	\$1,000.00					\$16.00	\$128.00
25-P		10x10' Pavement Patch	Ea.	6-10	8	\$50.00	\$400.00					\$30.00	\$240.00
49		Rut Avoidance Asphalt Concrete, Type 6RA Top Course	Ton	201-500	350	\$124.00	\$43,400.00					\$130.00	\$45,500.00
52		Rut Avoidance Asphalt Concrete, Type 3RA Binder Course	Ton	201-500	350	\$129.00	\$45,150.00					\$100.00	\$35,000.00
55		Asphalt Concrete Type I, Base Course	Ton	201-500	350	\$50.00	\$17,500.00					\$35.00	\$12,250.00
57		Asphalt Emulsions	Gal	5001 - 15,000	10000	\$5.50	\$55,000.00					\$3.10	\$31,000.00
112		Topsoil and Seed	SY	501 - 1,500	1000	\$10.00	\$10,000.00					\$12.00	\$12,000.00
116		Pavement Markings	LF	1,001-5000	3,000	\$2.00	\$6,000.00					\$1.50	\$4,500.00
118-SWM		Straw/Wood Fiber Mulch - Temporary	SY	500-1500	1,000	\$4.00	\$4,000.00					\$2.00	\$2,000.00
118-SM		Seed and Mulch - Temporary	SY	500-1500	1,000	\$3.00	\$3,000.00					\$2.00	\$2,000.00
118-SSWM		Seed and Straw/Wood Fiber Mulch - Temporary	SY	500-1500	1,000	\$5.00	\$5,000.00					\$2.00	\$2,000.00
118-S		Straw Bale - Temporary	LF	500-1500	1,000	\$3.00	\$3,000.00					\$9.00	\$9,000.00
118-G		Geotextiles	SY	201 - 500	350	\$1,050.00						\$3.00	\$1,050.00
118-SF		Silt Fence - Temporary	LF	501 - 1,500	1000	\$15.00	\$15,000.00					\$11.00	\$11,000.00
118-D		Drainage Structure Inlet Protection, Prefabricated - Temporary	Ea.	6-10	8	\$300.00	\$2,400.00					\$200.00	\$1,600.00
118-J		Soil Mesh	SY	201 - 500	350	\$3.00	\$1,050.00					\$4.50	\$1,575.00
118-SCE		Stabilized Construction Entrance	SY	201 - 500	350	\$15.00	\$5,250.00					\$4.00	\$1,400.00
Total Bid Comparison Price Award No.		\$305,875.00	NO BID	NO BID	NO BID	\$235,843.00	\$355,650.00	\$271,236.00		NO BID	NO BID	NO BID	NO BID

COMPANY NAME:		Excav Services Inc.		Laser Industries Inc.		DeLatio Coal & Stone DBA South Fork Asphalt		The LandTek Group Inc.		Suffolk Paving Corp.		KJB Industries Inc.		Rosemar Contracting Inc		Quintal Contracting Corp		Corazzini Asphalt		American Underground Utilities, Inc.		D.F. Eastwood Construction Corp DBA/ All Island Fence and Railings		
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	
Award No. 5 Drainage Installation																								
5	2	Unclassified Excavation	CY	201 - 500	350	\$65.00	\$22,750.00	\$80.00	\$28,000.00															
	4-P	Recycled Concrete Aggregate	CY	1 - 100	50	\$38.00	\$1,900.00	\$80.00	\$4,000.00															
	7RR	Remove and Replace Concrete Curb	LF	1-100	50	\$98.00	\$4,900.00	\$100.00	\$5,000.00															
	7ARR	Remove and Replace Concrete Header	LF	1-100	50	\$98.00	\$4,900.00	\$40.00	\$2,000.00															
	9RR	Remove and Replace Concrete Sidewalk	SY	1-50	25	\$185.00	\$4,625.00	\$180.00	\$4,500.00															
	13U-4"	Underdrain Pipe -4" Dia.	LF	1-100	50	\$12.00	\$600.00	\$15.00	\$750.00															
	13U-6"	Underdrain Pipe -6" Dia.	LF	1-100	50	\$16.00	\$800.00	\$18.00	\$900.00															
	13U-8"	Underdrain Pipe -8" Dia.	LF	1-100	50	\$20.00	\$1,000.00	\$22.00	\$1,100.00															
	13P-4"	Polyethylene Pipe -4" Dia.	LF	1-100	50	\$24.00	\$1,200.00	\$24.00	\$1,200.00															
	13P-12"	Polyethylene Pipe -12" Dia.	LF	1-100	50	\$65.00	\$3,250.00	\$40.00	\$2,000.00															
	13P-15"	Polyethylene Pipe -15" Dia.	LF	1-100	50	\$75.00	\$3,750.00	\$45.00	\$2,250.00															
	13P-18"	Polyethylene Pipe -18" Dia.	LF	1-100	50	\$85.00	\$4,250.00	\$55.00	\$2,750.00															
	13P-24"	Polyethylene Pipe -24" Dia.	LF	1-100	50	\$85.00	\$4,250.00	\$80.00	\$4,000.00															
	13P-30"	Polyethylene Pipe -30" Dia.	LF	1-100	50	\$95.00	\$4,750.00	\$80.00	\$4,000.00															
	13P-36"	Polyethylene Pipe -36" Dia.	LF	1-100	50	\$120.00	\$6,000.00	\$100.00	\$5,000.00															
	13P-48"	Polyethylene Pipe -48" Dia.	LF	1-100	50	\$140.00	\$7,000.00	\$115.00	\$5,750.00															
	21A	Leaching Pools (8' Dia x 4'L)	Ea.	1-5	3	\$5,400.00	\$16,200.00	\$4,500.00	\$13,500.00															
	21B	Leaching Pools (8' Dia x 8'L)	Ea.	1-5	3	\$5,900.00	\$17,700.00	\$5,000.00	\$15,000.00															
	21C	Leaching Pools (8' Dia x 12'L)	Ea.	1-5	3	\$6,350.00	\$19,050.00	\$5,400.00	\$16,200.00															
	21D	Leaching Pools (10' Dia x 4'L)	Ea.	1-5	3	\$7,500.00	\$22,500.00	\$4,800.00	\$14,400.00															
	21E	Leaching Pools (10' Dia x 8'L)	Ea.	1-5	3	\$6,800.00	\$20,400.00	\$6,200.00	\$18,600.00															
	21F	Leaching Pools (10' Dia x 12'L)	Ea.	1-5	3	\$7,500.00	\$22,500.00	\$6,800.00	\$20,400.00															
	23A	Catch Basins Type A	Ea.	1-5	3	\$6,800.00	\$20,400.00	\$4,500.00	\$15,500.00															
	23B	Catch Basins Type B	Ea.	1-5	3	\$7,200.00	\$21,600.00	\$4,600.00	\$13,800.00															
	23AXD	Catch Basins Type A Add Dept	VF	1-5	3	\$400.00	\$1,200.00	\$700.00	\$2,100.00															
	23BXD	Catch Basins Type B Add Depth	VF	1-5	3	\$400.00	\$1,200.00	\$900.00	\$2,700.00															
	25-C	Casting Adjustment	Ea.	1-5	3	\$1,100.00	\$3,300.00	\$400.00	\$1,200.00															
	25-S	Subgrade Area Material	CY	1	1	\$220.00	\$220.00	\$100.00	\$100.00															
	25-P	10'x10' Pavement Patch	Ea.	1-5	3	\$1,350.00	\$4,050.00	\$1,800.00	\$5,400.00															
	27-MH	Manholes-4'ID/Base Section 3"-6"	Ea.	1-5	3	\$4,000.00	\$12,000.00	\$4,000.00	\$12,000.00															
	27-MHADX	Manholes-4'ID/Additional Depth	VF	1-5	3	\$800.00	\$2,400.00	\$800.00	\$2,400.00															

DeLallo Coal & Stone DBA South Fork Asphalt											The LandTek Group Inc.				Suffolk Paving Corp.				KJB Industries Inc.				Rosemar Contracting Inc				Quintal Contracting Corp				Corazzini Asphalt				American Underground Utilities, Inc.				D.F. Eastwood Construction Corp DBA/ All Island Fenc and Railings				
COMPANY NAME:				Excav Services Inc.				Laser Industries Inc.				The LandTek Group				Suffolk Paving Corp.				KJB Industries Inc.				Rosemar Contracting Inc				Quintal Contracting Corp				Corazzini Asphalt				American Underground Utilities, Inc.				D.F. Eastwood Construction Corp DBA/ All Island Fenc and Railings			
27-DI	Drop Inlets-2' ID Base Section 3'	Ea.	1-5	3	\$2,400.00	\$7,200.00	\$2,500.00	\$7,500.00																																			
53	Tack Coat	Gal	1-10	5	\$30.00	\$150.00	\$25.00	\$125.00												\$20.00	\$100.00	\$20.00	\$100.00																				
112	Topsoil and Seed	SY	1-500	250	\$25.00	\$25.00	\$21.00	\$5,250.00												\$25.00	\$6,250.00	\$20.00	\$5,000.00																				
Total Bid Comparison Price Award No. 5				\$274,245.00				\$271,737.50				NO BID				NO BID				NO BID				\$217,500.00				\$203,650.00				NO BID				NO BID				NO BID			

Award No. 6 - Mill and Overlay - Low Quantity																										
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	
6	2U	Removal of Unsuitable Material	CY	1-50	25	\$1.00	\$25.00							\$10.00	\$250.00	\$10.00	\$250.00	\$20.00	\$500.00				\$10.00	\$250.00		
	4-SS	Stabilized Soil Aggregate Subbase	CY	1-25	10	\$1.00	\$10.00							\$1.00	\$10.00	\$50.00	\$500.00	\$1.00	\$10.00				\$1.00	\$10.00		
	48	Asphalt Concrete Trimming and Leveling Course	Ton	1-200	100	\$50.00	\$5,000.00							\$35.00	\$3,500.00	\$150.00	\$15,000.00	\$40.00	\$4,000.00				\$50.00	\$5,000.00		
	49	Rut Avoidance Asphalt Concrete, Type 6FRA Top Course	Ton	1-200	100	\$153.00	\$15,300.00							\$160.00	\$16,000.00	\$162.00	\$16,200.00	\$170.00	\$17,000.00				\$155.00	\$15,500.00		
	52	Rut Avoidance Asphalt Concrete, Type 3RA Binder Course	Ton	1-200	100	\$153.00	\$15,300.00							\$40.00	\$4,000.00	\$162.00	\$16,200.00	\$40.00	\$4,000.00				\$50.00	\$5,000.00		
	59	Milling of Asphaltic Concrete Pavement	SY	1-3000	1,500	\$7.00	\$10,500.00							\$11.00	\$16,500.00	\$9.00	\$13,500.00	\$13.50	\$20,250.00				\$10.00	\$15,000.00		
	116	Pavement Markings	LF	1 - 2,000	1,000	\$3.50	\$3,500.00							\$2.50	\$2,500.00	\$3.00	\$3,000.00	\$3.50	\$3,500.00				\$2.00	\$2,000.00		
	118-SWM	Straw/Wood Fiber Mulch - Temporary	SY	1-500	250	\$1.00	\$250.00							\$1.00	\$250.00	\$1.00	\$250.00	\$1.00	\$250.00				\$1.00	\$250.00		
	118-SM	Seed and Mulch - Temporary	SY	1-500	250	\$1.00	\$250.00							\$1.00	\$250.00	\$12.00	\$3,000.00	\$1.00	\$250.00				\$1.00	\$250.00		
	118-SSWM	Seed and Straw/Wood Fiber Mulch - Temporary	SY	1-500	250	\$1.00	\$250.00							\$1.00	\$250.00	\$1.00	\$250.00	\$1.00	\$250.00				\$1.00	\$250.00		
	118-S	Straw Bale - Temporary	LF	1-500	250	\$8.00	\$2,000.00							\$9.00	\$2,250.00	\$12.00	\$3,000.00	\$10.00	\$2,500.00				\$8.00	\$2,000.00		
	118-G	Geotextiles	SY	1-200	100	\$4.00	\$400.00							\$1.00	\$100.00	\$10.00	\$1,000.00	\$1.00	\$100.00				\$1.00	\$100.00		
	118-SF	Silt Fence - Temporary	LF	1-500	250	\$5.00	\$1,250.00							\$9.00	\$2,250.00	\$12.00	\$3,000.00	\$10.00	\$2,500.00				\$8.00	\$2,000.00		
	118-D	Drainage Structure Inlet Protection, Prefabricated - Temporary	Ea.	1-5	5	\$300.00	\$1,500.00							\$250.00	\$1,250.00	\$350.00	\$1,750.00	\$450.00	\$2,250.00				\$300.00	\$1,500.00		
	118-J	Jute Mesh	SY	1-200	100	\$1.00	\$100.00							\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00				\$1.00	\$100.00		
	118-SCF	Stabilized Construction Entrance	SY	1-200	100	\$1.00	\$100.00							\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00				\$1.00	\$100.00		
Total Bid Comparison Price Award No. 6				\$55,735.00		NO BID		NO BID		NO BID		\$49,560.00		\$77,100.00		\$57,560.00		NO BID		\$49,310.00		NO BID				

COMPANY NAME:		Excav Services Inc.	Laser Industries Inc.	DeLatio Coal & Stone DBA South Fork Asphalt	The LandTek Group Inc.	Suffolk Paving Corp.	KJB Industries Inc.	Rosemar Contracting Inc	Quintal Contracting Corp	Corazzini Asphalt	American Underground Utilities, Inc.	D.F. Eastwood Construction Corp DBA/ All Island Fence and Railings	
<b>Award No. 7 - Mill and Overlay - High Quantity</b>													
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price
7	2U	Removal of Unsuitable Material	CY	51-100	75	\$1.00	\$75.00					\$1.00	\$75.00
	4-SS	Stabilized Soil Aggregate Subbase	CY	26-50	35	\$1.00	\$35.00					\$1.00	\$35.00
	48	Asphalt Concrete Trimming and Leveling Course	Ton	201-1000	600	\$50.00	\$30,000.00					\$40.00	\$24,000.00
	49	Rut Avoidance Asphalt Concrete, Type 6FRA Top Course	Ton	201-1000	600	\$108.00	\$64,800.00					\$90.00	\$54,000.00
	52	Rut Avoidance Asphalt Concrete, Type JRA Binder Course	Ton	201-1000	600	\$100.00	\$60,000.00					\$40.00	\$24,000.00
	59	Milling of Asphaltic Concrete Pavement	SY	3001-5000	4,000	\$5.90	\$23,600.00					\$5.00	\$20,000.00
	116	Pavement Markings	LF	1 - 2,000	1,000	\$2.50	\$2,500.00					\$2.00	\$2,000.00
	118-SWM	Straw/Wood Fiber Mulch - Temporary	SY	501-1000	750	\$1.00	\$750.00					\$1.00	\$750.00
	118-SM	Seed and Mulch - Temporary	SY	501-1000	750	\$1.00	\$750.00					\$1.00	\$750.00
	118-SSWM	Straw/Wood Fiber Mulch - Temporary	SY	501-1000	750	\$1.00	\$750.00					\$1.00	\$750.00
	118-S	Straw Bale - Temporary	LF	501-1000	750	\$1.00	\$750.00					\$1.00	\$750.00
	118-G	Geotextiles	SY	201-500	350	\$1.00	\$350.00					\$1.00	\$350.00
	118-SF	Silt Fence - Temporary	LF	501-1000	750	\$1.00	\$750.00					\$1.00	\$750.00
	118-D	Drainage Structure Inlet Protection, Prefabricated - Temporary	Ea.	6-10	10	\$300.00	\$3,000.00					\$400.00	\$4,000.00
	118-J	Soil Mesh	SY	201-500	500	\$1.00	\$500.00					\$1.00	\$500.00
	118-SCE	Stabilized Construction Entrance	SY	201-500	350	\$1.00	\$350.00					\$1.00	\$350.00
<b>Total Bid Comparison Award No.</b>						\$188,960.00	NO BID	NO BID	NO BID	\$133,060.00	\$265,850.00	\$144,610.00	NO BID
													NO BID
													NO BID
													NO BID

COMPANY NAME:		Excav Services Inc.		Laser Industries Inc.		DeLatio Coal & Stone DBA South Fork Asphalt		The LandTek Group Inc.		Suffolk Paving Corp.		KJB Industries Inc.		Rosemar Contracting Inc		Quintal Contracting Corp		Corazzini Asphalt		American Underground Utilities, Inc.		D.F. Eastwood Construction Corp DBA/ All Island Fence and Railings	
Award No. 8 - Concrete Flatwork and Curbing - Low Quantity																							
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price
8	2U	Removal of Unsatisfactory Material	CY	44571	5	\$75.00	\$375.00	\$90.00	\$450.00		\$75.00	\$375.00			\$100.00	\$500.00							
	6	Detectable Warning Units	SF	44586	10	\$100.00	\$1,000.00	\$75.00	\$750.00		\$100.00	\$1,000.00			\$100.00	\$1,000.00							
	7	Concrete Curb	LF	1-200	100	\$65.00	\$6,500.00	\$55.00	\$5,500.00		\$55.00	\$5,500.00			\$85.00	\$8,500.00							
	7A	Concrete Header	LF	1-200	100	\$30.00	\$3,000.00	\$20.00	\$2,000.00		\$25.00	\$2,500.00			\$10.00	\$1,000.00							
	7RR	Remove and Replace Concrete Curb	LF	1-200	100	\$70.00	\$7,000.00	\$60.00	\$6,000.00		\$68.00	\$6,800.00			\$100.00	\$10,000.00							
	7ARR	Remove and Replace Concrete Header	LF	1-200	100	\$30.00	\$3,000.00	\$25.00	\$2,500.00		\$30.00	\$3,000.00			\$10.00	\$1,000.00							
	8	Jumbo Belgian Block Curb	LF	1-200	100	\$50.00	\$5,000.00	\$55.00	\$5,500.00		\$35.00	\$3,500.00			\$60.00	\$6,000.00							
	8RR	Remove and Replace Jumbo Belgian Block Curb	LF	1-200	100	\$50.00	\$5,000.00	\$57.00	\$5,700.00		\$40.00	\$4,000.00			\$65.00	\$6,500.00							
	9	Concrete Sidewalk	SY	1-100	50	\$112.00	\$5,600.00	\$120.00	\$6,000.00		\$120.00	\$6,000.00			\$130.00	\$6,500.00							
	9RR	Remove and Replace Concrete Sidewalk	SY	1-100	50	\$128.00	\$6,400.00	\$117.00	\$5,850.00		\$145.00	\$7,250.00			\$140.00	\$7,000.00							
	10-4"	Colored and Imprinted Concrete Sidewalk - 4"	SY	1-100	50	\$155.00	\$7,750.00	\$150.00	\$7,500.00		\$135.00	\$6,750.00			\$160.00	\$8,000.00							
	10-6"	Colored and Imprinted Concrete Sidewalk - 6"	SY	1-100	50	\$165.00	\$8,250.00	\$175.00	\$8,750.00		\$140.00	\$7,000.00			\$165.00	\$8,250.00							
	10-4"RR	Remove and Replace Colored and Imprinted Concrete Sidewalk - 4"	SY	1-100	50	\$170.00	\$8,500.00	\$160.00	\$8,000.00		\$150.00	\$7,500.00			\$160.00	\$8,000.00							
	10-6"RR	Remove and Replace Colored and Imprinted Concrete - 6"	SY	1-100	50	\$175.00	\$8,750.00	\$178.00	\$8,900.00		\$155.00	\$7,750.00			\$165.00	\$8,250.00							
	11	Concrete Aprons	SY	1-50	25	\$145.00	\$3,625.00	\$126.00	\$3,150.00		\$130.00	\$3,250.00			\$160.00	\$4,000.00							
	11RR	Remove and Replace Concrete Aprons	SY	1-200	10	\$300.00	\$3,000.00	\$162.00	\$1,620.00		\$150.00	\$1,500.00			\$180.00	\$1,800.00							
	112	Topsoil and Seed	SY	1-200	100	\$18.00	\$1,800.00	\$18.00	\$1,800.00		\$15.00	\$1,500.00			\$16.00	\$1,600.00							
Total Bid Comparison Award No. 8				\$84,450.00			\$79,970.00		NO BID	\$75,175.00		NO BID	\$87,900.00		NO BID		NO BID		NO BID		NO BID		
Award No. 8A - Trench Drain and Polyethylene Pipe-4" Dia. Low Quantity																							
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price
SA	12	Trench Drain	LF	1-100	50	\$190.00	\$9,500.00	\$125.00	\$6,250.00		\$150.00	\$7,500.00			\$600.00	\$30,000.00							
	13P-4"	Polyethylene Pipe-4" Dia.	LF	1-200	100	\$28.00	\$2,800.00	\$17.00	\$1,700.00		\$18.00	\$1,800.00			\$10.00	\$1,000.00							
Total Bid Comparison Award No. 8A				\$12,300.00			\$79,500.00		NO BID	\$9,300.00		NO BID	\$31,000.00		NO BID		NO BID		NO BID		NO BID		
Award No. 8B - Trench Drain and Polyethylene Pipe-4" Dia. High Quantity																							
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price
8B	12	Trench Drain	LF	101-300	200	\$175.00	\$35,000.00	\$105.00	\$21,000.00		\$122.00	\$24,400.00			\$400.00	\$80,000.00							
	13P-4"	Polyethylene Pipe-4" Dia.	LF	201-500	350	\$22.00	\$7,700.00	\$15.00	\$5,250.00		\$16.00	\$5,600.00			\$10.00	\$3,500.00							
Total Bid Comparison Award No. 8B				\$42,700.00			\$26,250.00		NO BID	\$30,000.00		NO BID	\$83,500.00		NO BID		NO BID		NO BID		NO BID		



D.F Eastwood  
Construction Corp  
DBA/ All Island Fence  
and Railings

DeLatio Coal & Stone  
DBA South Fork  
Asphalt  
The LandTek Group  
Inc.  
Suffolk Paving Corp.  
KJB Industries Inc.  
Rosemar Contracting Inc  
Quintal Contracting Corp  
Corazzini Asphalt  
American Underground  
Utilities, Inc.

## COMPANY NAME:

Award No. 10 - Permeable Paver Parking Lot/Roadway - Low Quantity		Excav Services Inc.		Laser Industries Inc.		DeLatio Coal & Stone DBA South Fork Asphalt		The LandTek Group Inc.		Suffolk Paving Corp.		KJB Industries Inc.		Rosemar Contracting Inc		Quintal Contracting Corp		Corazzini Asphalt		American Underground Utilities, Inc.			
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price
10	2	Unclassified Excavation	CY	1-500	300	\$95.00	\$28,500.00	\$90.00	\$27,000.00							\$60.00	\$18,000.00						
	6	Detectable Warning Units	SF	1-100	50	\$72.00	\$3,600.00	\$90.00	\$4,500.00							\$100.00	\$5,000.00						
	7	Concrete Curb	LF	1-500	250	\$52.00	\$13,000.00	\$38.00	\$9,500.00							\$80.00	\$20,000.00						
	8	Jumbo Belgian Block Curb	LF	1-500	250	\$44.00	\$11,000.00	\$39.00	\$9,750.00							\$60.00	\$15,000.00						
	9	Concrete Sidewalk	SY	18264	25	\$110.00	\$2,750.00	\$125.00	\$3,125.00							\$130.00	\$3,250.00						
	10-4*	Colored and Imprinted Concrete Sidewalk - 4"	SY	18264	25	\$135.00	\$3,375.00	\$135.00	\$3,375.00							\$150.00	\$3,750.00						
	11	Concrete Aprons	SY	18264	25	\$150.00	\$3,750.00	\$135.00	\$3,375.00							\$150.00	\$3,750.00						
	12	French Drain	LF	1-100	50	\$142.00	\$7,100.00	\$150.00	\$7,500.00							\$60.00	\$30,000.00						
	13P-4*	Polyethylene Pipe-4" Dia.	LF	1-100	50	\$22.00	\$1,100.00	\$12.00	\$600.00							\$10.00	\$500.00						
	74	Painted Lines	LF	1-1000	500	\$5.00	\$2,500.00	\$2.00	\$1,000.00							\$3.00	\$1,500.00						
	112	Topsoil and Seed	SY	1-200	100	\$20.00	\$2,000.00	\$18.00	\$1,800.00							\$16.00	\$1,600.00						
	190-O	Concrete Grid Pavements	SY	0 - 1,000	500	\$165.00	\$82,500.00	\$135.00	\$67,500.00							\$260.00	\$130,000.00						
	190-P	Permeable Interlocking Concrete Pavement - Eco-ridge	SY	0 - 1,000	500	\$165.00	\$82,500.00	\$130.00	\$65,000.00							\$250.00	\$125,000.00						
	190-PP	Permeable Interlocking Concrete Pavement - SF-Rim	SY	0 - 1,000	500	\$170.00	\$85,000.00	\$130.00	\$65,000.00							\$250.00	\$125,000.00						
	191	Unit Pavers	SY	0 - 1,000	500	\$128.00	\$64,000.00	\$115.00	\$57,500.00							\$200.00	\$100,000.00						
Total Bid Comparison Award No. 10						\$392,675.00	\$326,525.00			NO BID		NO BID		NO BID		\$582,350.00		NO BID		NO BID		NO BID	

## Award No. 11 - Permeable Paver Parking Lot/Roadway - High Quantity

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price
11	2	Unclassified Excavation	CY	501-1000	750			\$90.00	\$67,500.00														
	6	Detectable Warning Units	SF	101-200	150			\$100.00	\$15,000.00														
	7	Concrete Curb	LF	501-1000	750			\$35.00	\$26,250.00														
	8	Jumbo Belgian Block Curb	LF	501-1000	750			\$38.00	\$28,500.00														
	9	Concrete Sidewalk	SY	51-100	75			\$108.00	\$8,100.00														
	10-4*	Colored and Imprinted Concrete Sidewalk - 4"	SY	51-100	75			\$130.00	\$9,750.00														
	11	Concrete Aprons	SY	51-100	75			\$117.00	\$8,775.00														
	12	French Drain	LF	101-200	150			\$100.00	\$15,000.00														
	13P-4*	Polyethylene Pipe-4" Dia.	LF	101-200	150			\$10.00	\$1,500.00														
	74	Painted Lines	LF	1001-5000	3,000			\$1.50	\$4,500.00														
	112	Topsoil and Seed	SY	201-500	750			\$12.00	\$9,000.00														
	190-O	Concrete Grid Pavements	SY	1001-5000	3,000			\$130.00	\$390,000.00														

**Award No. 12 - Surface Treatments - Low Quantities**

Award No. 12 - Surface Treatments & Lbs. Quantity		Award No. 12 - Surface Treatments & Lbs. Quantity		Award No. 12 - Surface Treatments & Lbs. Quantity		Award No. 12 - Surface Treatments & Lbs. Quantity		Award No. 12 - Surface Treatments & Lbs. Quantity		Award No. 12 - Surface Treatments & Lbs. Quantity		Award No. 12 - Surface Treatments & Lbs. Quantity		Award No. 12 - Surface Treatments & Lbs. Quantity		Award No. 12 - Surface Treatments & Lbs. Quantity		Award No. 12 - Surface Treatments & Lbs. Quantity			
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price												
12	100	Bituminous Surface Treatment	SY	1-1000	500										\$60.00	\$30,000.00					
	104	Asphalt Emulsion Slurry	SY	1 - 1,000	500										\$80.00	\$40,000.00					

#### Figure 13. Surface Treatments With Quartz

Page 10

Award No.14 - Crack Sealants																										
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity		Unit Cost		Total Price		Unit Cost		Total Price		Unit Cost		Total Price		Unit Cost		Total Price		Unit Cost		Total Price	
					Unit	Quantity	Unit	Cost	Unit	Cost	Unit	Cost	Unit	Cost	Unit	Cost	Unit	Cost	Unit	Cost	Unit	Cost	Unit	Cost	Unit	Cost
14	44	Bituminous Pavement Crack Sealant	LF	1 - 1,000	500												\$10.00	\$5,000.00	\$8.00	\$4,000.00						
	46	Fiber Reinforced Polymer Modified Pavement Crack Sealant	LF	1 - 1,000	500												\$15.00	\$7,500.00	\$11.00	\$5,500.00						
Total Bid Comparison Award No.14					NO BID		NO BID		NO BID		NO BID		\$12,500.00		\$9,500.00		NO BID		NO BID		NO BID		NO BID			

**Award No. 15 - Chain Link Fence - Low Quantity**

Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price								
15	108-4'	Vinyl Coated Chain Link Fencing	LF	0 - 100	50			\$40.00	\$2,000.00			\$42.00	\$2,100.00			\$75.00	\$3,750.00							\$25.00	\$1,250.00
	108-6'	Vinyl Coated Chain Link Fencing	LF	0 - 100	50			\$50.00	\$2,500.00			\$60.00	\$3,000.00			\$80.00	\$4,000.00							\$30.00	\$1,500.00
	108-8'	Vinyl Coated Chain Link Fencing	LF	0 - 100	50			\$52.00	\$2,600.00			\$70.00	\$3,500.00			\$85.00	\$4,250.00							\$35.00	\$1,750.00
	108SG-4'	Vinyl Coated Chain Link 3' Single Gate	Ea	0-5	1			\$300.00	\$300.00			\$350.00	\$350.00			\$900.00	\$900.00							\$25.00	\$25.00
	108SG-6'	Vinyl Coated Chain Link 3' Single Gate	Ea	0-5	1			\$360.00	\$360.00			\$385.00	\$385.00			\$1,000.00	\$1,000.00							\$30.00	\$30.00
	108SG-8'	Vinyl Coated Chain Link 3' Single Gate	Ea	0-5	1			\$385.00	\$385.00			\$425.00	\$425.00			\$1,200.00	\$1,200.00							\$40.00	\$40.00

DeLatio Coal & Stone DBA South Fork Asphalt																			D.F Eastwood Construction Corp DBA/ All Island Fence and Railings													
COMPANY NAME:		Excav Services Inc.		Laser Industries Inc.		The LandTek Group Inc.		Suffolk Paving Corp.		KJB Industries Inc.		Rosemar Contracting Inc		Quintal Contracting Corp		Corazzini Asphalt		American Underground Utilities, Inc.														
	108SG-4	Vinyl Coated Chain Link 8' Double Gate	Ea	0-5	1			\$565.00	\$565.00		\$700.00	\$700.00		\$1,500.00	\$1,500.00														\$90.00	\$90.00		
	108SG-6	Vinyl Coated Chain Link 8' Double Gate	Ea	0-5	1			\$665.00	\$665.00		\$800.00	\$800.00		\$1,800.00	\$1,800.00														\$90.00	\$90.00		
	108SG-8'	Vinyl Coated Chain Link 8' Double Gate	Ea	0-5	1			\$715.00	\$715.00		\$900.00	\$900.00		\$2,200.00	\$2,200.00														\$90.00	\$90.00		
Total Bid Comparison Award No. 15		NO BID				\$10,090.00		NO BID		\$12,160.00		NO BID		\$20,600.00		NO BID		NO BID		NO BID		NO BID		NO BID				\$4,865.00				
Award No. 16 - Chain Link Fence - High Quantity																																
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price			
16	108-4'	Vinyl Coated Chain Link Fencing	LF	101-500	300			\$40.00	\$12,000.00			\$40.00	\$12,000.00			\$70.00	\$21,000.00													\$27.00	\$8,100.00	
	108-4'	Vinyl Coated Chain Link Fencing	LF	101-500	300			\$50.00	\$15,000.00			\$48.00	\$14,400.00			\$75.00	\$22,500.00													\$35.00	\$10,500.00	
	108-8'	Vinyl Coated Chain Link Fencing	LF	101-500	300			\$53.00	\$15,900.00			\$60.00	\$18,000.00			\$80.00	\$24,000.00													\$35.00	\$10,500.00	
	108SG-4'	Vinyl Coated Chain Link 3' Single Gate	Ea	0-10	2			\$300.00	\$600.00		\$320.00	\$640.00			\$900.00	\$1,800.00													\$25.00	\$50.00		
	108SG-6	Vinyl Coated Chain Link 3' Single Gate	Ea	0-10	2			\$360.00	\$720.00		\$350.00	\$700.00			\$1,000.00	\$2,000.00													\$30.00	\$60.00		
	108SG-8'	Vinyl Coated Chain Link 3' Single Gate	Ea	0-10	2			\$385.00	\$770.00		\$400.00	\$800.00			\$1,200.00	\$2,400.00													\$40.00	\$80.00		
	108SG-4'	Vinyl Coated Chain Link 8' Double Gate	Ea	0-10	2			\$565.00	\$1,130.00		\$700.00	\$1,400.00			\$1,500.00	\$3,000.00													\$90.00	\$180.00		
	108SG-6	Vinyl Coated Chain Link 8' Double Gate	Ea	0-10	2			\$665.00	\$1,330.00		\$750.00	\$1,500.00			\$1,800.00	\$3,600.00													\$90.00	\$180.00		
	108SG-8'	Vinyl Coated Chain Link 8' Double Gate	Ea	0-10	2			\$715.00	\$1,430.00		\$800.00	\$1,600.00			\$2,200.00	\$4,400.00													\$90.00	\$180.00		
Total Bid Comparison Award No. 16		NO BID				\$48,880.00		NO BID		\$51,040.00		NO BID		\$84,700.00		NO BID		NO BID		NO BID		NO BID		NO BID				\$29,830.00				
Award No. 17 - Asphalt Top Course Installed - Low Quantity																																
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price			
17	49	Rat Avoidance Asphalt Concrete, Type 6FRA Top Course	Ton	1-500	250	\$127.00	\$31,750.00			\$135.00	\$33,750.00			\$125.00	\$31,250.00	\$150.00	\$37,500.00									\$122.00	\$30,500.00					
Total Bid Comparison Award No. 17		NO BID				\$31,750.00		NO BID		\$33,750.00		NO BID		\$31,250.00		\$37,500.00		NO BID		NO BID		\$30,500.00		NO BID		NO BID						
Award No. 18 - Asphalt Top Course Installed - Mid Quantity																																
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price			
18	49	Rat Avoidance Asphalt Concrete, Type 6FRA Top Course	Ton	501-1000	750	\$112.00	\$84,000.00			\$125.00	\$93,750.00			\$82.28	\$61,710.00	\$110.00	\$82,500.00	\$84.00	\$63,000.00								\$122.00	\$91,500.00				
Total Bid Comparison Award No. 18		NO BID				\$84,000.00		NO BID		\$93,750.00		NO BID		\$61,710.00		\$82,500.00		\$63,000.00		NO BID		\$91,500.00		NO BID		NO BID						

DeLatio Coal & Stone																				D.F. Eastwood Construction Corp DBA/ All Island Fence and Railings																						
Excav Services Inc.																				DBA South Fork Asphalt		The LandTek Group Inc.		Suffolk Paving Corp.		KJB Industries Inc.		Rosemar Contracting Inc		Quintal Contracting Corp		Corazzini Asphalt		American Underground Utilities, Inc.								
<b>COMPANY NAME:</b>																																										
<b>Award No. 19 - Asphalt Top Course Installed - High Quantity</b>																																										
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price																	
19	49	Rut Avoidance Asphalt Concrete, Type 6/RA Top Course	Ton	1001-5000	3000																\$82.28	\$246,840.00																				
<b>Total Bid Comparison Award No. 19</b>																					NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID			
<b>Award No. 20 - Asphalt Binder Course Installed - Low Quantity</b>																																										
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price																			
20	52	Rut Avoidance Asphalt Concrete, Type 6/RA Binder Course	Ton	1-500	250	\$125.00	\$31,250.00														\$120.00	\$30,000.00	\$150.00	\$37,500.00																		
<b>Total Bid Comparison Award No. 20</b>																					\$31,250.00	NO BID	\$33,250.00	NO BID	\$30,000.00	\$37,500.00	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID			
<b>Award No. 21 - Asphalt Binder Course Installed - Mid Quantity</b>																																										
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price																			
21	52	Rut Avoidance Asphalt Concrete, Type 3/RA Binder Course	Ton	501-1000	750	\$110.00	\$82,500.00													\$123.00	\$92,250.00																					
<b>Total Bid Comparison Award No. 21</b>																					\$82,500.00	NO BID	\$92,250.00	NO BID	\$61,710.00	\$82,500.00	\$80.00	\$60,000.00														
<b>Award No. 22 - Asphalt Binder Course Installed - High Quantity</b>																																										
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price																					
22	52	Rut Avoidance Asphalt Concrete, Type 3/RA Binder Course	Ton	1001-5000	3000															\$82.28	\$246,840.00																					
<b>Total Bid Comparison Award No. 22</b>																					NO BID	NO BID	NO BID	NO BID	NO BID	\$246,840.00	NO BID	\$237,000.00	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID			
<b>Award No. 23 - Pavement Patches - Low Quantity</b>																																										
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price																			
23	51	Pavement Patches	SF	0-1,000	500															\$25.00	\$12,500.00																					
<b>Total Bid Comparison Award No. 23</b>																					NO BID	NO BID	\$12,500.00	NO BID	\$10,000.00	\$14,000.00	NO BID	NO BID	\$20.00	\$10,000.00	NO BID	\$10,000.00	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	
<b>Award No. 24 - Pavement Patches - High Quantity</b>																																										
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price																			
24	51	Pavement Patches	SF	1001-5000	3,000															\$17.00	\$51,000.00																					
<b>Total Bid Comparison Award No. 24</b>																					NO BID	\$51,000.00	NO BID	\$45,000.00	\$84,000.00	\$60,000.00	NO BID	NO BID	\$20.00	\$60,000.00	NO BID	\$60,000.00	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	
<b>Award No. 25 - Latex Modified Surface Treatment - Low Quantity</b>																																										
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price																					
25	106	Latex Modified Surface Treatment	SY	1-1000	500																																					
<b>Total Bid Comparison Award No. 25</b>																					NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID	NO BID			

DeLallo Coal & Stone																			D.F. Eastwood Construction Corp																								
Excav Services Inc.																			DBA South Fork Asphalt																								
COMPANY NAME:	Award No. 26 - Latex Modified Surface Treatment - High Quantity		Award No. 27 - Sodding - Low Quantity		Award No. 28 - Sodding - High Quantity		Award No. 29 - Poured In Place Safety Surface		Award No. 30 - Painted Lines - Low Quantity		Award No. 31 - Painted Lines - High Quantity		Award No. 32 - Concrete Roadway/Parking Lot Patches		Award No. 33 - ASPHALT TENNIS COURT SURFACE COLOR COATING SYSTEM		Award No. 34 - Directional Boring of 1-1/2" Conduit																										
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price								
26	106	Latex Modified Surface Treatment	SY	1001-5000	3,000																																						
Total Bid Comparison Award No. 26		NO BID				NO BID			NO BID			NO BID			NO BID			NO BID			NO BID			NO BID			NO BID			NO BID			NO BID										
27	113	Sodding	SY	1132254	1,000			\$15.00	\$15,000.00			\$14.00	\$14,000.00																														
Total Bid Comparison Award No. 27		NO BID				\$15,000.00		NO BID			\$14,000.00		NO BID			NO BID			NO BID			\$18.00	\$18,000.00																				
28	113	Sodding	SY	5001-10000	7,500			\$11.00	\$82,500.00			\$10.50	\$78,750.00																														
Total Bid Comparison Award No. 28		NO BID				\$82,500.00		NO BID			\$78,750.00		NO BID			NO BID			NO BID			\$13.50	\$101,250.00																				
29	151-6'	Poured in Place Safety Surface - 6' Critical Fall Ht.	SY	1-1000	500																																						
	151-8'	Poured in Place Safety Surface - 8' Critical Fall Ht.	SY	1-1000	500																																						
	151-10'	Poured in Place Safety Surface - 10' Critical Fall Ht.	SY	1-1000	500																																						
Total Bid Comparison Award No. 29		NO BID				NO BID		NO BID			NO BID		NO BID			NO BID			\$266,000.00		NO BID			NO BID			NO BID			NO BID			NO BID										
30	74	Painted Lines	LF	1-1000	500			\$2.99	\$1,495.00																																		
Total Bid Comparison Award No. 30		NO BID				\$1,495.00		NO BID			NO BID		NO BID			NO BID			\$2,000.00		NO BID			NO BID			NO BID			NO BID			NO BID										
31	74	Painted Lines	LF	1001-5000	3,000			\$1.99	\$5,970.00																																		
Total Bid Comparison Award No. 31		NO BID				\$5,970.00		NO BID			NO BID		NO BID			NO BID			\$6,600.00		NO BID			NO BID			NO BID			NO BID			NO BID										
32	50	Asphaltic Concrete Top Course	Tons	0-500	250																																						
	52	Asphaltic Concrete Binder Course	Tons	0-500	250																																						
	51-A	Concrete used for Roadway Replacement	CU, FT	0-500	250																																						
	4-P	Recycled Concrete Aggregate	CU, FT	0-500	250																																						
	51-AR	Reinforcement	SQ FT	0-500	250																																						
	74	Painted Lines	LF	0-100	50																																						
	116	Pavement Marking	LF	0-100	50																																						
Total Bid Comparison Award No. 32		NO BID				NO BID		NO BID			NO BID																																
33	200	Asphalt Tennis Court Surface Color Coating System	SQ YD	1-1500	1000																																						
Total Bid Comparison Award No. 33		NO BID				NO BID		NO BID			\$16,000.00		NO BID			\$19,000.00		NO BID			NO BID			NO BID			NO BID			NO BID			NO BID										
34	Award No. 34 - Directional Boring of 1-1/2" Conduit		Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price					

DeLallo Coal & Stone D.B.A. South Fork Asphalt												The LandTek Group Inc.		Suffolk Paving Corp.		KJB Industries Inc.		Rosemar Contracting Inc.		Quintal Contracting Corp.		Corazzini Asphalt		American Underground Utilities, Inc.		D.F. Eastwood Construction Corp D.B.A. All Island Fence and Railings	
COMPANY NAME:		Excav Services Inc.		Laser Industries Inc.																							
34	300	Directional Boring of 1-1/2" Conduit	LF	1-100	100														\$64.50	\$6,450.00							
34	300	Directional Boring of 1-1/2" Conduit	LF	101-500	500														\$43.00	\$21,500.00							
34	300	Directional Boring of 1-1/2" Conduit	LF	501-1000	1000														\$35.00	\$35,000.00							
34	300	Directional Boring of 1-1/2" Conduit	LF	Over 1000	1500														\$30.00	\$45,000.00							
Total Bid Comparison Award No. 34		NO BID		NO BID		NO BID		NO BID		NO BID		NO BID		NO BID		NO BID		\$107,950.00									

COMPANY NAME:		Excav Services Inc.	Laser Industries Inc.	DeLatio Coal & Stone DBA South Fork Asphalt	The LandTek Group Inc.	Suffolk Paving Corp.	KJB Industries Inc.	Rosemar Contracting Inc	Quintal Contracting Corp	Corazzini Asphalt	American Underground Utilities, Inc.	D.F. Eastwood Construction Corp DBA/ All Island Fence and Railings	
Award No. 37 – Directional Boring of 6" Conduit													
Award No.	Item No.	Description	Unit	Quantity	Estimated Quantity	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price	Unit Cost	Total Price
37	300	Directional Boring of 6" Conduit	LF	1-100	100								\$75.00
37	300	Directional Boring of 6" Conduit	LF	101-500	500								\$36,500.00
37	300	Directional Boring of 6" Conduit	LF	501-1000	1000								\$70.00
37	300	Directional Boring of 6" Conduit	LF	Over 1000	1500								\$102,000.00
Total Bid Comparison Award No. 37		NO BID		NO BID		NO BID		NO BID		NO BID		NO BID	\$216,000.00